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Linear Inequalities Application Notes
Inequalities Phrases
· ______________________________________________________________________________
· a > b
· ______________________________________________________________________________
· a  b
· ______________________________________________________________________________
· a < b
· ______________________________________________________________________________
· a  b
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The junior class has been selling roses as an ongoing fundraiser. Roses sell for $3.50 each and, to date, they have
raised $2,002.75. They would like to raise a total of $2,870.75 by the end of the year. I this situation is modeled by the inequality
below, how many more roses, x, do they need to sell to raise at least $2,870.75?

2,00275 + $3.50z > $2,87075

The junior class would need to sell at most 572 roses.
The junior class would need to sell at least 248 roses.

The junior class would need to sell at most 820 roses.
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The junior class would need o sell at most 248 roses.
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Ben's business averages $2,000 per month in internet sales plus another $300 per salesperson per month. Based on the inequality
below, how many salespeople, s, need to be working in order for Ben's business to generate at least $2,900 in monthly revenue?

$2,000 + $300s > $2,900

Ben needs at least 3 salespeople working

Ben needs at most 13 salespeople working

Ben needs at most 8 salespeople working.
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Ben needs at most 3 salespeople working.
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An insurance company is considering implementing a plan based on mileage. The current plan, Plan A, charges a flat rate of
$186.60 per month. Plan B charges a flat rate of $133.20 per month plus an additional $0.06 per mile driven the previous month
Using the inequality below, find the number of miles, x, where the cost of Plan B is less than the cost of Plan A.

$133.20 + $0.06x < $186.60

The mileage must be less than 890 miles.

The mileage must be greater than 1,780 miles.

The mileage must be less than 5,330 miles.
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The mileage must be greater than 890 miles.
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Isabella wants to create 18 ounces of new hand lotion, with a minimum 15% concentration of beeswax, from a mixture of
two lotions. One lotion has a 21% concentration of beeswax, and the second lotion has a concentration of 5% beeswax. Based on
the inequality below, how much of the 21% lotion, x, will she need?

021z + 0.05(18 — ) > 27

OA. Isabella will need at most 9 ounces of the 21% lotion to make 18 ounces of the new hand lotion with a minimum of
15% beeswax.

OB. Isabella will need at most 11.25 ounces of the 21% lotion to make 18 ounces of the new hand lotion with a minimum of
15% beeswax.

OC. Isabella will need at least 11.25 ounces of the 21% lotion to make 18 ounces of the new hand lotion with a minimum of
15% beeswax.

Isabella will need at most 12 ounces of the 21% lotion to make 18 ounces of the new hand lotion with a minimum of

15% beeswax.
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Amy is planning the seating arrangement for her wedding reception. Each round table can sit 12 guests. The head table can sit the
bride and groom with the 6 wedding attendants. If Amy expects 210 to 270 guests to attend her wedding, including the attendants,
what is the range for the number of round tables she will need for her reception?
DA 171022
B. 23t028
OC. 181023
D.

221027
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Eve knits scarves for her online store. This week she has already knitted 9 scarves. There are 2 days left in the work week. She set
a goal for herself to knit at least 15 scarves and at the most 19 scarves this week. Eve wants to know how many scarves she

should knit each day to meet her goal.

Which inequality represents the given situation?
DA 1522x+9219

1552x+9519

15=2x-9=19

15=2x-9=19




